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ENGLISH VERSION

Instructions :(1) All questions are compulsory.

(2) Necessary working notes are part of calculation.

1 What is a Minimum Alternative Tax?  Explain Minimum20

Alternative Tax (M.A.T.) rate with  practical illustration.

OR

1 The following  Profit & Loss  Account is of MJK for the Year20

2018-19

Dr Cr

Particulars Amount ̀ Particulars Amount ̀

Sundry Material 50,000Net Sale:

Employee Salary 6000 in India- 1,25,000

Income Tax 10,000Out India- 30,000 1,55,000

Wealth  Tax 250

Sundry Expenses 1,000Interest and

Travelling Expenses 1,500  Divi. Received 7,500

Fixed  Assets Depreciation16,000Other Income 2,500

Building Rent 750

Advertisement Expenses 4,500

Net Profit 75,000

1,65,000 1,65,000

Depreciation is ` 30,000 allowed  by Income Tax Department,

Deduction U/s  80 IB is  30%, Custom duty paid during current

year of Rs. 2,500 for the Year 2013-14.

The  loss  & depreciation carried forward for  the  year 2013-14.

For the  account purpose, loss `  40,000 and  depreciation `  22,500

and for Income tax purpose, loss ` 37,000 and depreciation

` 15,000

As per above information compute

(1) Total Taxable Income

(2) Book Profit

(3) Tax  Liability of a company
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2 Shree Raam Ltd. company requires ` 35 lac for expansion it20

business.  This amount can be received from the followings.

Equity  Share14 % Debentures18% Loan

Alternative I 35,00,000 - -

Alternative II 15,00,000 15,00,000 5,00,000

Alternative III15,00,000 7,50,000 12,50,000

Consider  following   condition  for  evaluate  three  alternatives;

give  your  suggestion   for  viable decision.

(a) Expected  Profit before tax is 25 %.

(b) The average past rate of dividend paid is 20%.

(c) Income Tax  30%

(d) Surcharge 3%

(e) Tax on dividend   20.358%.

OR

2 Angel company manufactures cycles. Company wants business20

growth of its production facility, so company needs to generate

capital of ` 10,00,000 for new project of company. It assumes that

EBIT of new project would be 3,00,000. Surya Company evaluates

different structure for raising fund from the market. Rate of external

debt is 12% p.a. company has different structure for raising fund

Debt equity ratio is 0:1, 1:4 and 4:1 respectively. Company will

declared earnings as dividend. Rate of tax :

Tax - 30%, Surcharge - 3%,  Education cess-3%, tax on dividend

distribution 16.225%.

Give appropriate  opinion  to company  for selection  of favorable

alternative  through  rate of return of capital  employed.

3 Bhavani Ltd. manufacture food products. The company needs15

new machinery for increase production capacity of business. Cost

of new machine is Rs. 50,00,000. There are two alternatives

available  company manager either purchase by installments or

lease finance which are as follow:

Alternative A:Buying the machinery through bank loan

` 50,00,000 repayable in five equal installments of ` 10,00,000

each with interest @ 14% p.a. It assumes that all expenses are

payable at the year end.
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Alternative B:Leasing the machinery for which annual lease rent

is ̀ 15,00,000 up to five years. The leassor charge one parentage

(1%) of the cost of generator as processing fees in the first year.

Depreciation rate of machinery is 15% p.a. and tax rate is 30.90%.

Give your suggestions by considering present value factor 10%,

should Bhavani Ltd. purchase  by installments or lease for

machinery?

Present  Value factor @ 10%

Year 0 1 2 3 4 5

P.V. 1.000 0.909 0.826 0.751 0.683 0.621

OR

3 Renuka Ltd. is manufacturing machinery. A company requires15

elements in manufacturing operations. It is considering suggestions

either make or buy elements at reasonable price. Renuka Ltd.  has

two suggestions which are as follow:

Suggestion 1:The company chooses to make require elements

itself, it would need to purchase a machine for

` 16,00,000 which  would be used for five years.

Manufacturing costs during five years   would be

` 24,00,000, ̀ 28,00,000, ̀ 32,00,000,

` 40,00,000 and ̀ 50,00,000 respectively.

Depreciation rate is 15%. The machine will be

sold for ` 2,00,000 at the starting of the sixth

year. This manufacturing cost is incurred in the

starting of each year.

Suggestion 2:The company chooses to buy the elements from

the supplier, the cost of elements would be

` 36,00,000, ̀ 40,00,000, ̀ 44,00,000,

` 56,00,000 and ` 68,00,000 respectively in each

of five years. This cost incurred at the beginning

of each year.

Present value factor: 12%, Tax rate @ 30%, Surcharge @ 12%,

Cess @ 3%. Give your smart suggestion, should Renuka Ltd. make

the elements  or buy from outside?

Present  Value factor @ 12%

Year 0 1 2 3 4 5

P.V. 1.000 0.869 0.756 0.657 0.572 0.497
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4 Write short notes : (any three) 15

(a) Tax planning

(b) Tax management

(c) Tax avoidance

(d) Tax evasion

__________
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